
    Arms

    Uprights

Figure 1
          PARTS DESCRIPTION

STEP 1:

Secure upright against the wall

Figure 2

Wall mounted upright - 2 pcs.
Arms - 18" long (6 pcs.), 15" long (8 pcs.)
Hardware kit - M6-1.00x20mm long bolt (14 pcs.), M6 flat washer (14 pcs.), M6-1.00 nylock nut (14 pcs.) & 
Yellow end caps (14 pcs.)

           Horizontal  Wall  Mounted  Material  Rack           
Assembly Instructions



STEP 2:

Insert & secure load arms as shown below in Fig.3, 4, & 5.

Figure 3

STEP 3:

Use M6x1.00x20mm long bolt, & M6x1.00 lock nut to secure the arms and secure to wall

Ø13/32"

Figure 4


